Solutions 650®
LECLIGHT

INSTRUCTION MANUAL

Equipment Type 3200978, 3200973201020, 3201036
REV. A

IssuelUNE2013

PN

Ballantyne STRONG
=y

S\ | /2

13170 FNB ParkwaOmaha, Nebraska 68154 SA
Tel (402) 4534 4 4 4 A F a x7 2(380v@A3trongverRl.com



http://www.strong-world.com/

SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036) Rev. A, June 2013

TABLE OF CONTENTS

NN [ I L = PSP PRPPPR 3
PATENT POSITION. .. ttttttieiiiittteecmeteeeeeee e e e setteemmmseeeseeeeeesssssseesmmnnaneseesesaasssssseeeannnnnneeeessssssssneesesannnnnnesssnns 3.
TRADEMARK ... ettt ittt eeeeee ettt e e e e e et eeaammnseteeeeaeeesssss s s ammmnnseeeeeeeeaansseeeemmnnnnneeeeeeeannnraeetennnnnnneeeeenannrreees 3....
(10 ][] = 1 F PP PPRPP 3.

PRODUCT OVERVIEM....cciiiiiiiitiitaemeeeteete e e e s sttt meeseeeeee s s s asabse et e s seaaaaaaesaassbbeeeeeeesaeaaaassssassbsseeeeessssnananansnses 4.

INSTALLATION. ...t ttttteeeeieeietmmeeeeeeeeeeessssteee s mmneeneeeaeeaasssseeseemmnnnnaeeeessssssseeeeesannnaansessssssseeeeeeesannannansasssssnnneeens 4.

IMEINU SYSTEM...oiii ittt ceteeee e e e ettt et e e seeeaaaeeeasssaaeaeeeeeeseeaaaaesesssstseeeeeeeesanaaaaan s sssseeesaeeessssaanaannssssseneeeeeesnns 5....

LED SCHEMATIC SOLUTIONS 650 (3200977, AND 3200978)........c.uuutitmmmemerieeeesiisiiieeeeeemennnaeeesssssssseeeesssnes 4

SOLUTIONS 650 (3200977, AND 3200978)........uuureeiieeiiiaeeeeaasiitteeeaeesssssaesemmssseeeeeeesasassssssmmnntesseeeessanssssssmmnes 8

LED REFLECTOR SOLUTIONS. B850.......cciiitteaametttiitiaeeassiibsaemmmenaeeeeeessaassssss s mmenaeeeesssasassssseeessnnannssessssnnssees 14.

LED SCHEMATIC SOLUTIONS 650C RGB (32Q1020)...........uttmmmeeeeeieieeseaiirrremmmneeeeeeaeeesssssssessmmsnnessessssaans 16

SOLUTIONS 650C RGB (3201020).....0ceeeeiiuuureemmmmeeeeeeeeeessastseessmnneeesessssasssssseessesnmsaassessassssssseseeessnmsasssssssssnes 17

SOLUTIONS 650C RGB LED LAY QUT ... ..iiiiiiiiceeeeee e ettt e e seeeeee s s sttt ee e e e e s s sennse s snnsbeeeaaee e e s s nnsmm s snseees 23

LED SCHEMATIC SOLUTIONS 650C RGBW (320L036)......ccuttiieieeraeeeeeiiiiiieeeeeeesssesseeesssssnseeeeeeessnsssssmmssseees 24

SOLUTIONS 650C RGBW (3201036 .......uuuvrerieeeeierareeasasstrrereeeessssaaaaaasssssssesesesssassnsaamnsssssssesesssnssssnnnmnnnsssses 25

SOLUTIONS 650C RGBW LED LAYOUT (3201036).........uuuueeimmmmreeeeeeeeisirnreeeesannamaaeesasssssnessesessemsssssssssssseees 31

LED REFLECTOR SOLUTIONS.B50C ... ittt ceeemeitiiiiee e e e s sibtmmeseeeeee e s s ssnssbssmmneneseeaeeesssnssssseemmannnneesesssans 32

XLR HARNESS FOR DIMX..oiiiiiiiiiiittmeeeteeee e e e sttt e meeeee et e e e e s s sttt et e s smnnaaeseeesaassbeeeeeeesannnnnnessannssseeeeeeeesnnnnnnns 34

XLR CONNECTORS . ... iiiiiii e ceeeeee e ettt e e e e e s eeaseea s s aaaeeeeeeessssaaaaamssseseeeeeeesasss s maammnnseseeeeeeeaassssssmmmnnnnseeeeeenn 35

L0 ] N 1\ I I 2 3PP 36

EQUIPMENT WAR R AN LY. oottt eeee et e ettt e e et et eeeemmm e e e e et e e e e tta s smmmmeetan e eeestan s esmaannnanseeessnnneeeessannnnnn 37

2| PAGE
13170 FNB Parkway A Omaha, Nebraska 68154
Tel (402) 4534 4 4 4 A F a x7 238028 trondyHr8l.com



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036) Rev. A, June 2013

NOTICE

PATENT POSITION
The Solutions 650® is proprietary to Strong Entertainment Lighting, a diviBaiaofyne
Strong, Inc. Patents, owned by Ballantyne Strong, Inc. are eitherasgqesdling in this and
related concepts.

TRADEMARK
The name o0Solutions 65006 is a tradenbaenk own
registered with the U.S. Patentfioé.
COPYRIGHT
The material contained in this manual is the property of Ballantyne Strong, In@yandt be
reproduced, in full or in part, without the written consent of BallaBtyoeg,Inc.
3| PAGE
13170 FNB Parkway A Omaha, Nebraska 68154
Tel (402) 4534 4 4 4 A F a x7 2(380v2AtrondyH181.com



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036) Rev. A, June 2013

PRODUCT OVERVIEW

The Solutions 650 is an originabprietary lighting fixtureutilizing higkefficiency LighEmitting

Diodes (ED s ) as an illumination source. -rdngenarr ow
projection of a coherent sqeabeam of highintensity light.Operating expenses are minimized

by the long life of theLEDmodules (average 50,000 hours) and the inherent low power
consumption &fED s .

A sealed housing permits indoor and/or outdoor operaiioany environmental condition. LED
lights will function continuously in any wgrkiosition or projection angleBeam shaping is
possible by meansf optional micro lens filtersOther options include dimming, color scrolling,
and remote control.

Power requirement for the Solutions 650100-240 volts AC, singiphase. The buiibh LED
power supply will automatically sense input voltage. An integral vaispieled blower maintains

a safe operating temperature, and thermal sensing switches disable operation of the fixture if
overheatingoccurs.

INSTALLATION

An optional Spigot (Part&N2 01 02200) can be i nst ayokeenhicht o t he
will permit use of a tripod floor stand (Part No. 20102401) or any lighting traswvare using

a 28mm (11/8 inch) aperture.Each Soligns 650 unit weighs 68 poun(@ikg) and any truss or

other mounting accessory must be capable of bearing the IBadhermore, a sdfe chain or

lanyard (not supplied by Strong) must secure any fixtanented in an overhead location.

Electricalrequrement of theSolution®50 is 100240 voltsAC single phase protected at 15
amperes. TheLEDpower supply will autaletectthe incoming AC voltage and no tegitings are
required. The AC power cord is not fitted with a plug to allow the installeseéoa plug suitable
to the AC voltage and/or the padular requirements of the venue.

4| PAGE
13170 FNB Parkway A Omaha, Nebraska 68154
Tel (402) 4534 4 4 4 A F a x7 2(380v2AtrondyH181.com



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036) Rev. A, June 2013

MENU SYSTEM

MENU ENTER upP DOWN

THE MENU SYSTEM ISWBATED USING THAENU ENTERUP,_AND DOWNBUTTONS IN THE FOLLOW MANNER

Menu Button: Moves back in menu or to the next left column

Enter Button: Move into the menu or to the next right column and also selects an entry
Up Button: Move up a row or increases a value

Down Button: Move dowra row or decreases a value

5| PAGE
13170 FNB Parkway A Omaha, Nebraska 68154
Tel (402) 4534 4 4 4 A F a x7 2(380v2AtrondyH181.com



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036) Rev. A, June 2013

(T MENU  ENTERCD)

DMXAddress| 000 - 512 Sets DMX Address
Settings
Solutions Select 650 or 650C Fixture Type
650C 650 / 650C

Set LCD Backlight Level
LCD Backlight 1to 255
LEDMax Level Set MaximumBDPwr. Level
Chn 1 Max Level 1 to 255
Chn 2 Max_Level| 1 to 255
Chn3 Max Level| 1 to 255

Chn4 Max Level| 1 to 255

Factory Confirm? Sets Factory Settings

Defaults Note: Always set the fixture type before
selecting factory settings.

Information
Software Ver Version 1.3 Shows Software Version

Output 1 Amps Shavs output 1 LED current in Amps

Output 2 Amps Shows output 2 LED current in Amps
Output 3 Amps Shows output 3 LED current in Amps
Output 4 Amps

Shows output 3 LED curi@erAmps

6] PAGE
13170 FNB Parkway A Omaha, Nebraska 68154
Tel (402) 4534 4 4 4 A F a x7 2(380v2AtrondyH181.com



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036)

L
100-240 V N
50760 Hz

12

ITEM
NO.

S1
Bl
L1-L13
PS1

ITEM
NO.

DMX PCB

LED SCHEMATIC SOLUTBEINES200977, AND 320978)

DMX PCB
(OPTIONAL)

PS1

iy

POWER SUPPLY
P7
24vdc -31.3A [ () L 12 13

\ L13 L2 L1
B1

Figure2: SOLUTIONS 68820978, 320977)LED SCHEMATIC

PART NUMBER DESCRIPTION

3161010 THERMAL SWITCH
3102013 BLOWER24V DC
3130102 LED, WHITE
3147001 LED POWER SUPPLY

OPTIONAL DMX (320973
PART NUMBER DESCRIPTION

3172006 LED DRV 1 CH HP

13170 FNB Parkway A Omaha,
Tel (402) 4534 4 4 4 A F a x7 2(380v2AtrondyH181.com

L4

Lo

Rev. A, June 2013

L5 L6

L9 L8

(

@L?

B =

QTY.

P Wk R

QTY.

7| PAGE

Nebr aska

68154



33

26

39

47

20

SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036)

SOLUTIONSS0 (3200977, AND 320978)

ITEM
NO.

38 27) (34 @ 65

25

Rev. A, June 2013

41

Figure 3: SOLUTIONS 650 (3200873200977)

PART NUMBER

3161010
3147001
3102013
3142001
3148010
3168109
3200940
3200938
3200951
3200952
3200932
3200936

13170
Tel (402) 4534 4 4

F
4

DESCRIPTION
TEMP SWITCH

MW SR750-24 POWER SUPPLY
EBM PAPST 624U Axial Fan

N

SCREW IN VENT
O RING

BREATHER VALVE

KNOB TILT
PAD FRICTION

STRAINRELIEF BRACKET

BRACKET COVER

BUSHING GORE BREATHER

B
A

P
F

SPACER FAN

arkway A Omaha,

a X7 2(380v2A3trorndyH181.com

QTY.

WRRPRPNNRRRRRR

8| PAGE

Nebr aska

68154



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036)

17
19
20
21
22
23
24
25
26
27
28
29
30
31
33
34
35
36
37
38
39
40
41
42
43
44
45
46
a7
50
51
52
53
60
61
65
66
67

3200937
3200904
3200905
3200907
3200908
3200909
3200910
3200911
3200899
3200943
5173007
4040371
4048005
4080310
3200912
3200913
3201015
3200976
3200992
3200993
3200901
3172006
3198088
3198001
4M040061
4151004
4M030101
4M040121
4M040141
4M040122
3201035
4170057
4040373
3198212
3198211
4M050161
4M030062
4081801

13170 F
Tel (402) 4534 4 4 4

SPACER, MASK
HEAT SINK SECTION
HEAT SINK SECTION MIRROR
MASK 13
YOKE 13
COVER REAR MOLDED PLASTIC SOLUT
PANEL VENT
PANEL REAR COVER ASSY
BASE PLATE 13
REFLECTOR ASSEMBLY SOLUTION
THERMAL PAD
SCR BDHD SLTH2@ X 3/8 NYL
NYLON HEX NUTF40 4135068
SCR PNHD-82 X 5/16 SS SEMS
COVER INPUT GASKET
BEZEL GASKET
DMX PS WELD BRKT
SOLUTION 650 LCD DISPLAY
DMX FRONT COVEBRSEMBLY WITH GLAS
DMX BEZEL INPUT
COVER INPUT
LedDrv1ChHp
STRAIN RELIEF 90 DEGREE
F45 POWER CORD
M4 X 0.7 X6
# 8 X .5 PRH WOOD SCREW ZP
M3 x 0.5 x 10
M4 X 0.7 X 12
M4 X 0.7 X 14
SHCS M4 X 12 SS
12 VDC FAN ASSY
WSHR SPL 4 SS
S/S SHCS 410 X 3/8
CORD GRIP .08.2 BLK 69915K46
CORD GRIP .24.47 BLK 69915K53
M5 X 0.8 PHP SS
PHP M3 X .05 X 6 PH OVAL HEAD
SCR PNHD THD FORMINGB8X 1 SS

N Par kway A Omaha,
F

B
A a X7 2(380v2Rytrongn®18.com

Rev. A, June 2013

R PR RPRNRPRERNMNOD

PR PRPRPPRPPRPRPPAONNNE

w 1 N
© YOO w,

O MNMNNMNREPS_~AMPELO

9| PAGE

Nebr aska

68154



@)

SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036)

e

ITEM
NO.

\//\

=

—\

\

Rev. A, June 2013

(s W & @ ) @ G 0 ) (9 (
Figure 4: SOLUTIONS 6®XPLODED BOTTOM VIEW (3200B280977)
PARTNUMBER DESCRIPTION QTY.
3161010 TEMP SWITCH 1
3147001 MW SR750-24 POWER SUPPLY 1
3102013 EBM PAPST B2 NU Axial Fan 1
3142001 SCREW IN VENT 1
3148010 O RING 1
3168109 BREATHER VALVE 1
3200940 KNOB TILT 2
3200938 PAD FRICTION 2
3200951 STRAIN RELIEF BRACKET 1
3200952 BRACKET COVER 1
3200932 BUSHING GORE BREATHER 1
3200936 SPACER FAN 3
3200937 SPACER, MASK 6
3200904 HEAT SINK SECTION 4
10| PAGE
13170 FNB Parkway A Omaha, Nebraska 68154
Tel (402) 4534 4 4 4 A F a x7 2(380v2AtrondyH181.com



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036)

20
21
22
23
24
25
26
27
28
29
30
31
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
50
51
52
53
60
61
65
66
67

3200905
3200907
3200908
3200909
3200910
3200911
3200899
3200943
5173007
4040371
4048005
4080310
3200912
3200913
3201015
3200976
3200992
3200993
3200901
3172006
3198088
3198001
4M040061
4151004
4M030101
4M040121
4M040141
4M040122
3201035
4170057
4040373
3198212
3198211
4M050161
4M030062
4081801

13170 F
Tel (402) 4534 4 4 4

HEAT SINK SECTION MIRROR
MASK 13
YOKE 13
COVER REAR MOLDED PLASTIC SOLUT
PANEL VENT
PANEL REAR COVER ASSY
BASE PLATE 13
REFLECTOR ASSEMBLY SOLUTION
THERMAL PAD
SCR BDHD SLTi3@&X 3/8 NYL
NYLON HEX NUTF40 4135068
SCR PNHD-82 X 5/16 SS SEMS
COVER INPUT GASKET
BEZEL GASKET
DMX PS WELD BRKT
SOLUTION 650 LCD DISPLAY
DMX FRONTOVER ASSEMBLY WITH GL£
DMX BEZEL INPUT
COVER INPUT
LedDrv1ChHp
STRAIN RELIEF 90 DEGREE
F45 POWER CORD
M4 X 0.7 X6
# 8 X .5 PRH WOOD SCREW ZP
M3 x 0.5 x 10
M4 X 0.7 X 12
M4 X 0.7 X 14
SHCS M4 X 12 SS
12 VDC FAN ASSY
WSHR SPL 4 SS
S/S SHCS 410 X 3/8
CORD GRIP .08.2 BLK 69915K46
CORD GRIP .24.47 BLK 69915K53
M5 X 0.8 PHP SS
PHP M3 X .05 X 6 PH OVAL HEAD
SCR PNHD THD FORMINGB8 1 SS

N Par kway A Omaha,
F

B
A a X7 2(380v2Rytrongn®18.com

Rev. A, June 2013

PR R NP

PR PRPPRPRPPEPPRPONNDNEL

w 1 N
o PSSOy,

AOMNMNNMNEPM~AMPEL O

11| PAGE

Nebr aska

68154



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036) Rev. A, June 2013

0@@0@@@@ 12) () @) @) @) @

Figure 5: SOLUTIONS 6EXPLODEDDPVIEW3200978& 3200977

';g'_v' PARTNUMBER DESCRIPTION QTY.
2 3161010 TEMP SWITCH 1

3 3147001 MW SR750-24 POWER SUPPLY 1

4 3102013 EBM PAPSR24 NU Axial Fan 1

5 3142001 SCREW IN VENT 1

6 3148010 O RING 1
10 3168109 BREATHER VALVE 1
11 3200940 KNOB TILT 2
12 3200938 PAD FRICTION 2
13 3200951 STRAIN RELIEF BRACKET 1
14 3200952 BRACKET COVER 1
15 3200932 BUSHING GORE BREATHER 1
16 3200936 SPACER FAN 3
17 3200937 SPACER, MASK 6
19 3200904 HEAT SINK SECTION 4
20 3200905 HEAT SINK SECTION MIRROR 4

12| PAGE

13170

FN
Tel (402) 4534 4 4 4

Parkway A Omaha, Nebraska 68154
F

B
A a X7 2(380v2A3trorndyH181.com



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036)

21
22
23
24
25
26
27
28
29
30
31
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
50
51
52
53
60
61
65
66
67

3200907
3200908
3200909
3200910
3200911
3200899
3200943
5173007
4040371
4048005
4080310
3200912
3200913
3201015
3200976
3200992
3200993
3200901
3172006
3198088
3198001
4M040061
4151004
4M030101
4M040121
4M040141
4M040122
3201035
4170057
4040373
3198212
3198211
4M050161
4M030062
4081801

13170 F
Tel (402) 4534 4 4 4

MASK 13
YOKE 13
COVER REAR MOLDED PLASTIC SOLUT
PANEL VENT
PANEL REAR COVER ASSY
BASE PLATE 13
REFLECTOR ASSEMBLY SOLUTION
THERMAL PAD
SCR BDHD SLTi3@X 3/8 NYL
NYLON HEX NUTF40 4135068
SCR PNHD-82 X 5/16 SS SEMS
COVER INPUT GASKET
BEZEL GASKET
DMX PS WELD BRKT
SOLUTION 650 LCD DISPLAY
DMX FRONTOVER ASSEMBLY WITH GL#
DMX BEZEL INPUT
COVER INPUT
LedDrv1ChHp
STRAIN RELIEF 90 DEGREE
F45 POWER CORD
M4 X 0.7 X6
# 8 X .5 PRH WOOD SCREW ZP
M3 x 0.5 x 10
M4 X 0.7 X 12
M4 X 0.7 X 14
SHCS M4 X 12 SS
12 VDC FAN ASSY
WSHR SPL 4 SS
S/S SHCS 410 X 3/8
CORD GRIP .08.2 BLK 69915K46
CORD GRIP .24.47 BLK 69915K53
M5 X 0.8 PHP SS
PHP M3 X .05 X 6 PH OVAL HEAD
SCR PNHD THD FORMINGB8 1 SS

N Par kway A Omaha,
F

B
A a X7 2(380v2Rytrongn®18.com

Rev. A, June 2013

PR RN R

PRPRPRPRPRPPRPRPRPRONMNNDNEE

w 1 N
© w9 n,

ArONMNNMNREPA~AMPELO

13| PAGE

Nebr aska

68154



SOLUTIONS 650 INSTRUCTION MANUAL (3200978, 3200977, 3201020, & 3201036)

ITEM
NO.

O© 00 NO Ol WDN P

el el
W N R O

LED REFLECTOR SOLUBHBINS

Figure 6: SOLUTIONS 650 REFLECTOR ASBENIBBY00943

PART NUMBER

3200917
3200916
3200918
3130102
3200920
3200924
3200925
3200926
3200927
4M030101
4M030141
3200934
3200933

13170 F
Tel (402) 4534 4 4 4

DESCRIPTION

REFLECTOR, INTERNAL
HEAT SINK LED

LIGHT PIPE, CONVENTIONAL
LEDWHITE

WASHER INSULATOR
PLATE HEAT PIPE CLAMP
BOTTOM THERMRAD

PAD THERMAL LED BACK
PAD THERMAL LED OUT
PHP M3 X .05 X 6 PHMS
M3 x 0.5 x 14

LED BACK HEAT SINK
HEAT PIPE 5SMM

N B
A a X7 2(380v2Rytrongn®18.com

Par kway A Omaha,
F

Rev. A, June 2013

QTY.

P RPN WRRPRRRNERRPRR

14| PAGE

Nebr aska

68154








































































